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B/C Cells rely on diffusion for nutrients, waste,
and gas exchange. Therefore THe little cell get
enough food to feed it, was able poop all its
poop, and get 02 in and co2 out.

Better to be small and have more than be large
and have less.
SMALL CELLS HAVE A GREATER
SURFACE AREA, RELATIVE TO THEIR
VOLUME




s ol

= D (s () [T%\——suﬁ'

Ly Mot of NaOr| |ndy (o

D&@i(ﬂ“ﬂwv

e@ -
£ a?ﬁ:fge Elwm wﬂtﬁwfv







October 03, 2014

"‘*)?//\/2”“ ”f&' D VSN 4D
4 M M Snes
are eM5 6y G,

I\/) Y\Wc&b/@“\

$o00 9 G U o stk « R
€ noogh \Q&* wn D mina €+ R




October 03, 2014




